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Important Instructions:

You may use a scientific calculator that does not have programming or graphing capabilities.
You may NOT borrow a calculator from anyone.

You may NOT use notes or any textbook.

There should be NO talking during the examination.

Your exam will be taken immediately if your mobile phone is seen or heard.

Looking around or making an attempt of cheating may cause you expulsion from the Exam.
This examination has 8 problems, some with several parts and a total of 5 pages including the
cover page. Make sure your exam paper has all these pages with all the problems.
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Problems Max points Student’s Points
1,2 21
3,4 21
5,6 20
7,8 18
Total 80
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Q.1 (15 points):  Verify the identity. (Show all the steps)

a) cos_e =secf+tand
1-siné@
1 + 1 =2+2cot?x

1+cosx 1-cosx

c) cos(x+zj—sin(x+zj =-sinx
6 3

0.2 (6 points) Given that tana:—% where « lies in quadrant Il , and Cosﬂ:% where £ lies in

quadrant IV . Find the exact value of sin(a+ )



Q.3 (12 points):  Find the exact value. (Show all your steps. Don’t use a calculator directly)

a) cos (77[)
12

b) sin(240° +45°)

c) sin(35)cos(5)—cos(35)sin(5)

Graph the solution set of the system of inequalities. Show all your steps

Q.4 (9 points):
4x+y<8
2x -3y >-12
y>xt—4




Q.5 (15 points):  Solve the following trigonometric equations:
a) 2J3cosx.sinx=3cosx , 0<x<2rx

b) 3sin?@=cos’ & , 0<6<360°

c) 2cos(2x)=1 , 0<x<27

Q.6 (5 points): Find the linear function f(X)=mx+b if the graph of the line passes through the points
(—2,15) and (4,21




Q.7 (8 points): Use the Addition-Elimination Method to solve the following system of linear equations.
X+y=-2
—-5X+5y—-2z=-24
X—2=5

0.8 (10 points): Use Matrices (Gaussian Elimination with back-substitution or Gauss-Jordan
Elimination) to solve the system of linear equations.

X+y+4z=2
2X+3y+62=0
-X—-y+2z=-14



